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2 MF30

MODE MF30-15G

INPUT 3PH 380V 50Hz
OUTPUT 3PH 0-350V 22A 15KVA
Freq Range 0-3000Hz

M.FAR AUTO

MATION INDUSTRY CO.

LTD.
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(50Hz/60Hz) | (KW) | (KVA) w | @
MF30-3G2 AC220V 1.5 3 6 1.5
MF30-5G2 AC220V 3 5 12 3
MF30-5G AC380V 3 5 9 3
MF30-10G AC380V 7.5 10 15 7.5
MF30-15G AC380V 11 15 22 11
MF30-256 AC380V 15 25 30 15
MF30-30G AC380V 18.5 30 38 18.5
MF30-356 AC380V 22 35 45 22
MF30-406 AC380V 25 40 50 25
MF30-456 AC380V 30 45 60 30
MF30-506 AC380V 34 50 68 34
MF30-60G AC380V 40 60 80 40
1 “ kW 380V
350V
20%
2
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0 3000Hz
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V/F V/F
20.0%
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MODBUS
1 MODBUS
MF30 RS-485
RS485+ RS485- RS-485
MF30 F45
MF30 ASCIl  RTU Modbus
networks ASCIl  American Standard Code for
Information interchange RTU  Remote Terminal Unit
F11,F45 F46
1 ASCHI
8-bit ASCII
1-byte 64H( ) ASCII “ 64"
6 (36H) “ 4 (34H)
‘0’ ‘1 2 3’ ‘4 ‘5’ ‘6’ 7
ASCII 30H| 31H| 32H| 33H| 34H | 35H| 36H | 37H

ASCII 38H | 39H | 41H | 42H | 43H | 44H | 45H | 46H




10-bit 8-bit
8 N 1 F11=3 ASCII

Start Stop
bit o 1 2 a 4 5 G ! bit

f————— & databits ——=]

10-bits aharacter frame ———@=|

2 RTU
8-bit 4-bit
64H
10-bit 8-bit
8 N 1 F11=2 RTU
5.1'.1:'.. Ston
kit o 1 2 3 4 5 3] ! bit

J=———— 8-databits ———=]

e——— | -bits character frame —————s=|

ASCII

STX 7 (3AH)
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ADR 1
ADR O 8-bit 2 ASCII
CMD 1
CMDO 8-bit 2 ASCII
DATA (n-1)
....... nx 8-bit 2n ASCII
DATAO n<=10 20  ASCIl
LRC CHK 1
LRC CHK O 8-bit 2 ASCII
END 1
END O END1= CR (ODH), ENDO= LF(0AH)
RTU
START 10 ms
ADR 8-bit
CMD 8-bit
DATA (n-1)
"""" nx8-bit n<=20
DATAO
CRCCHKLow | CRC
_ 16-bit 2 8-bit
CRC CHK High
END 10 ms
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2 ADR

0 32 0
(Address)

00H:
01H: 01
02H: 02
03H: 03
OFH: 15

10H: 16 32

16 ( )
ASCII (ADR1, ADRO)=" 1" ,” 0 =>‘ 1" =31H,
‘0 =30H

RTU (ADR) = 10H
3 CMD DATA

03H:

06H:

08H:

1 03H N N 10
01H 0002H 2
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ASCII
STX ! STX <
ADR 1 ‘o ADR 1 ‘0
ADR 0 R ADR O K
CMD 1 ‘0’ CMD 1 ‘0’
CMDO 3 CMDO Y
o o

‘0’ word ) 2

o o

T o

0 0002H o

( word 0 8
) ‘0’ ‘g

2’ 2103H ‘P

LRC CHK 1 ‘F ‘4
LRC CHK 0 g’ ‘0’
END 1 CR LRC CHK 1 v
ENDO LF LRC CHK O ‘3’
END 1 CR

END O LF
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RTU

ADR 01H ADR 01H
CMD 03H CMD 03H
00H 02H

( word )
02H 00H
OOH 0002H 28H
( word ) | gon 1FH

0003H

CRC CHK Low 65H 40H
CRC CHK High | CBH CRCCHKLow | FBH
CRC CHK High | FBH

2 06H 1 (word)
6000(1770H) 01H 0000H
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ASCII

STX o STX ‘o
ADR 1 o ADR 1 o
ADR O q ADR O L
CMD 1 o CMD 1 o
CMDO e CMDO e
o o

> o

o o

o o

T T

= =

- -

o o

LRC CHK 1 v LRC CHK 1 v
LRC CHK 0 . LRC CHK 0 >
END 1 CR END 1 CR
END 0O F END 0 F
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RTU

ADR 01H ADR 01H
CMD 06H CMD 06H
00H 00H

00H 00H

17H 17H

70H 70H

CRC CHK Low | 87H CRC CHK Low | 87H
CRC CHK High [5Eq CRC CHK High ["5er

4 CHK check sum

ASCII
ASCII
LRC
256
128H
LRC
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LRC (Longitudinal Redundancy Check)
ADR1
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01H 0401H 1
STX 7
ADR 1 ‘0’
ADR 0O ‘17
CMD 1 ‘0’
CMD O ‘3
0
z
0
T
0
0
0
T
LRC CHK 1 ‘F
LRC CHK O ‘6’
END 1 CR
END O LF

01H+03H+04H+01H+00H+01H=0AH, 0AH

E6H
RTU
RTU CRC (Cyclical Redundancy Check)
CRC
1 FFFFH  16-bit ( CRC
)
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2 16-bit CRC
Exclusive OR CRC
3 CRC 1 bit bit 0
CRC
4 CRC 0 3 CRC
AO01H Exclusive OR
5 3 4 CRC
8 bits
6 2 5
CRC CRC
CRC
01H 2102H 2
ADR CRC
F76FH 6FH  F7H
ADR 01H
CMD 03H
21H
02H
0OH
( word ) 02H
CRC CHK Low 6FH
CRC CHK High F7H
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C CRC (function)

Unsigned char* data — (buffer)
Unsigned char length
unsigned integer CRC
unsigned int crc_chk(unsigned char* data, unsigned char
length){
int j;
unsigned int reg_crc=0xFFFF;
while(length--){
reg_crc "= *datat+;
for(j=0;j<8;j++){
if(reg_crc & 0x01){ /* LSB(b0)=1 */
reg_crc=(reg_crc>>1) " 0xA001;
Yelse{

reg_crc=reg_crc >>1;

}

return reg_crc;
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0000H—
0080H
0002H
2000H 0004H
0008H
0001 DC
0002
0004
2100H 0008
0010
0400
0800
2102H
2103H
2104H
2105H
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0000H
0001H OL
0002H OH
0003H GD
2107H 0004H oC
0005H PE
0006H ou
0007H SC
0008H ES

01H
02H
03H
04H
05H CRC

Modbus ASCII

#include<stdio.h>
#include<dos.h>
#include<conio.h>

#include<process.h>
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#define PORT Ox03F8 /* the address of COM1 */
/* the address offset value relative to COM1 */
#define THR 0x0000

#define RDR 0x0000

#define BRDL 0x0000

#define IER 0x0001

#define BRDH 0x0001

#define LCR 0x0003

#define MCR 0x0004

#define LSR 0x0005

#define MSR 0x0006

unsigned char rdat[60];

/* read 2 data from address 2102H of AMD with address
1*/

unsigned char
tdat[60]={":", 0", 1", 0", "3, " 2", "1 ,"0","2",
"0%,70",%0%,"2","D"," 7", "\r","\n"};

void main(){

int i;
outportb(PORT+MCR,0x08); /* interrupt enable */
outportb(PORT+IER,0x01); /*interrupt as data in*/

outportb(PORT+LCR, (inportb(PORT+LCR) | 0x80));
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/* the BRDL/BRDH can be access as LCR.b7==1 */
outportb(PORT+BRDL,12); /* set baudrate=9600,
12=115200/9600*/
outportb(PORT+BRDH,0x00) ;
outporth(PORT+LCR,0x06); /* set protocol,
<7,N,2>=06H <7,E,1>=1AH,
<7,0,1>=0AH <8,N,2>=07H,
<8,E,1>=1BH <8,0,1>=0BH */
for(i=0;i<=16;i++){
while(!(inportb(PORT+LSR) & 0x20));
/* wait until THR empty */
outporth(PORT+THR, tdat[i]);
/* send data to THR */

i=0;
while(1kbhit()){
i f(inportb(PORT+LSR) & 0x01){
/* b0==1, read data ready */
rdat[i++]=inportb(PORT+RDR);
/* read data form RDR */
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